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(a) 0.23 (b) 46 (c) 1.8 102 (d) 6.0 103
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3.0 108 m/s 
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(a) 7.4 10 25 (b) 6.7 10 8 (c) 1.5 107 (d) 1.4 1024
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(a) (d)

1737 km

1.62 m/s2

6.7 10 11 N m2/kg2

kg

(a) 7.3 1011 (b) 7.3 1017 (c) 7.3 1022 (d) 7.3 1029

20 

A

(a) 1.0 (b) 4.0 (c) 7.5 (d) 60

0 10 g 100

4.2 J/(g K) 3.3 102 J/g

2.3 103 J/g

J

(a) 2.3 104 (b) 2.6 104 (c) 2.8 104 (d) 3.1 104

2.0 1015 Hz

4.7 eV

1.6 10 19 C 6.6 10 34

J

(a) 3.9 10 19 (b) 5.7 10 19 (c) 7.5 10 19 (d) 9.2 10 19
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d   

X X

a b X

a b X

m (= 1, 2, 3, )

X = 2.0 10 10 m = 30º m = 2 

d

X X

2.0 10 10 m

9.0 10 31 kg 6.6 10 34 J s



(a) (d)

0.50 kg

3.0 m/s2

9.8 m/s2 2.0 102

N/m

m

(a) 0.017 (b) 0.032 (c) 0.049 (d) 0.098

2.0 102 V 5.0 k

W

(a) 8.0 (b) 40 (c) 1.0 103 (d) 8.0 103

0 Hz

85 Hz

340 m/s

m

(a) 1.0 (b) 2.0 (c) 4.0 (d) 8.0

14C 5700 12C

(a) 2850 (b) 5700 (c) 11400 (d) 22800



C1 C2 C3 V S1, S2

2 3

C1 = C F , 

C2 = 2C F , C3 = 3C F , V = V V

S1 C1 C, 

V

S1 S2 C3

C2

C1 V

C2 C, V



1.0 mol 

1.0 105 Pa 3.0 102 K

A A A 

8.3 J/(mol K)

3.5 103 J
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B C
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